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1. (c) P
–

Q+
H/W

 R
–

S+

Daughter’s Husband

Mother DaughterSister
T

2. (a) RAB   SZD   TYF   UXH   VWJ

–1

+1 +1 +1 +1
+2 +2 +2 +2

–1 –1

3. (a) 75 ÷ 8 × 6 + 24 – 6  = 31
After interchanging the sign
we get:

 75 – 8 × 6 + 24 ÷ 6 = 31
 75 – 8 × 6 + 4 = 31
 79 – 48 = 31
 31 = 31 (L.H.S = R.H.S)

4. (c) +1 +1 +1 +1 +1 +1

A  Y  T  R  E  S

S  F  T  U  Z  B

+1 +1 +1 +1 +1 +1

M  I  N  T  E  D

U  F  E  O  J  N

Similarly,

+1 +1 +1 +1 +1 +1

L  T  R  E  A  D

F  B  E  S  U  M

5. (b)XYZXY/XYZXY/XYZXY/
XYZXY

6. (b)
7. (b)5, 3, 1, 4, 2
8. (d)
9. (d) (85, 198, 52)

 (85 – 52) × 6
 33 × 6 = 198 (middle term)

(77, 270, 32)
 (77 – 32) × 6
 45 × 6 = 270 (middle term)
Similarly,
 (62, 90, 47)
 (62 – 47) × 6 = 15 × 6 = 90

(middle term)
10. (d) (12, 8, 16)

 (12 – 8)2 = (4)2 = 16 (last term)
(22, 10, 144)

 (22 – 10) = (12)2 = 144 (last
term)

Similarly,
(18, 8, 100)
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 (18 – 8) = (10)2 = 100 (last
term)

11. (c) P U A

M S M

L R L

Q V B

+1 +1 +1

S N L

J H F

I G E

T O M

+1 +1 +1

Similarly,

D U L

P C F

O B E

E V M

+1 +1 +1

12. (a)
13. (b)
14. (b)
15. (d)14 : 85

 85 = (14 × 6) + 1
 85 = 84 + 1
 85 = 85

20 : 121
 121 = (20 × 6) + 1
 121 = 120 + 1
 121 = 121
Similarly,

11 : x
x = (11 × 6) + 1
x = 66 + 1
x = 67

16. (c)

engines

jugs stoves

Cons

17. (a)
B

C

+

– Sister Brother
D–

H/w
A

–
Son

E
+

Daughter

18. (c) 17C 12A (6B4) D8 A15  D5
17 – 12 + (6 × 4) ÷ 8 + 15 ÷ 5
17 – 12 + 24 ÷ 8 + 3
23 – 12 = 11

19. (d)
20. (d)

21. (d)

Q S H J R T D  F

R I S E

–1 –1 –1 –1+1 +1 +1 +1

E G Z B K M K M

F A L L

–1 –1 –1 –1+1 +1 +1 +1

Similarly.

J L H J M O F  H 

K I N G

–1 –1 –1 –1+1 +1 +1 +1

22. (d)
F P G

23. (c) 52,  113, 162, 226, 30777,

+25 +36 +49 +64 +81

(5)2
(6)

2

(7)
2 (8)2

(9)
2

24. (c) 14 : 207
= 142 + 11

 196 + 11 = 207
12 : 155
= 122 + 11

 144 + 11 = 155
 18 : 345 (odd)

= 182 + 11
 324 + 11 = 335  345

16 : 267
= 162 + 11

 256 + 11 = 267

25. (d) Q

J

C

H

+2

+2

+2

+2

+2

+2

S

W

E

J

U

Y

G

I
+2 –1 (odd)

 termLanka. B-GENERAL AWARENESS
26. (a) Vembanad Lake is the

longest lake in India and
the largest lake in Kerala,
known for its scenic
backwaters and houseboat
tourism. It spans several
districts including
Alappuzha, Kottayam, and

Ernakulam./osEcukM >hy Hkkjr
dh lcls yach >hy vkSj dsjy dh
lcls cM+h >hy gS] tks viuh lqanj
cSdokVj vkSj gkmlcksV i;ZVu ds
fy, çfl¼ gSA ;g >hy dbZ ftyksa
tSls vyIiq>k] dksêðk;e vkSj ,ukZdqye
esa iQSyh gqbZ gSA

27. (c) Operation Polo was the
code name for the Indian
military operation in
September 1948 that led to
the integration of the
Hyderabad princely state
into the Indian Union.
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vkWijs'ku iksyks og dksM uke Fkk] tks
flracj 1948 esa Hkkjrh; lsuk }kjk
gSnjkckn fj;klr dks Hkkjrh; la?k esa
feykus ds fy, pyk, x, lSU; vfHk;ku
dks fn;k x;k FkkA

28. (d) The Reserve Bank of India
(RBI) was established on 1st
April 1935 under the
Reserve Bank of India Act,
1934. It is the central bank
of India and controls the
issue and supply of the

Indian rupee./Hkkjrh; fjtoZ cSad
(RBI) dh LFkkiuk 1 vçSy 1935 dks
^Hkkjrh; fjtoZ cSad vfèkfu;e] 1934'

ds varxZr dh xbZ FkhA ;g Hkkjr dk
dsaæh; cSad gS vkSj Hkkjrh; eqæk ds
fuxZe rFkk vkiwfrZ dks fu;af=kr djrk gSA

29. (d) Polar Easterlies are cold, dry
winds that blow from the
polar high-pressure areas
toward subpolar low-
pressure areas. These winds
originate near the poles and
are known for their extreme
coldness and dryness,

especially in winter./èkzqoh; iwohZ
gok,¡  (Polar Easterlies) BaMh]
'kq"d gok,a gksrh gSa tks èkzqoh; mPp nkc
{ks=kksa ls mièkzqoh; fuEu nkc {ks=kksa dh
vksj cgrh gSaA ;s gok,a èkzqokssa ds ikl ls
mRiUu gksrh gSa vkSj fo'ks"k :i ls lfnZ;ksa
esa cgqr BaMh vkSj 'kq"d gksrh gSaA

30. (d) Fundamental Rights in the
Indian Constitution aim to
safeguard individual liberty,
ensure equality, and protect
citizens from arbitrary state
actions. These rights are
essential for establishing
political democracy, where
every citizen enjoys freedom,
equality before law, and
protection against discrimi-

nation./Hkkjrh; lafoèkku esa ekSfyd
vf/dkjksa dk mís'; O;fDr dh Lora=krk
dh j{kk djuk] lekurk lqfuf'pr djuk
vkSj ukxfjdksa dks jkT; ds euekus ÑR;ksa
ls lqj{kk çnku djuk gSA ;s vf/dkj
jktuhfrd yksdra=k dh LFkkiuk ds fy,
vko';d gSaA

31. (a) The International Solar
Alliance (ISA) has its
headquarters at the National

Institute of Solar Energy
(NISE) campus in Gwal
Pahari, Gurugram

Haryana, India./varjkZ"Vªh; lkSj
xBca/u (ISA) dk eq[;ky; Hkkjr
ds gfj;k.kk jkT; ds xq#xzke fLFkr
Xoky igkM+h esa ^jk"Vªh; lkSj ÅtkZ
laLFkku* (NISE) ifjlj esa gSA

32. (b) During puberty in boys,
the larynx grows larger,
and this growth makes
the Adam's apple
(Kanthamani) more
prominent at the front of
the throat. It is a visible
sign of the voice box
enlarging, which also

deepens the voice./yM+dksa esa
fd'kksjkoLFkk ds nkSjku Loj;a=k
(larynx) cM+k gks tkrk gS] ftlls
xys ds lkeus daBef.k (Adam's

Apple) mHkj dj fn•us yxrh gSA
;g Loj isVh (voice box) ds
c<+us dk ladsr gksrk gS] ftlls
vkokt Hkh Hkkjh gks tkrh gSA

33. (d) Rajkumari Amrit Kaur
was India's first woman
Union Cabinet Minister.
She served as the Health
Minister in Jawaharlal
Nehru's cabinet from 1947
to 1957. She played a key
role in establishing the All
India Institute of Medical
Sciences (AIIMS) and was
a prominent freedom
fighter and social

reformer./jktdqekjh ve`r dkSj
Lora=k Hkkjr dh igyh efgyk
dSfcusV ea=kh FkhaA mUgksaus 1947 ls
1957 rd usg: eaf=keaMy esa LokLF;
ea=kh ds :i esa dk;Z fd;kA os ,El
(AIIMS) dh LFkkiuk esa egRoiw.kZ
Hkwfedk fuHkkus okyh Lora=krk lsukuh
vkSj lekt lq/kjd FkhaA

34. (c) Statement A accurately
defines global warming
and its human causes.
Statement B correctly
explains that global
warming leads to climate
change, resulting in
severe impacts such as
flooding and extreme

weather events./dFku A

Xykscy okfeZax vkSj blds ekuotfur
dkj.kksa dh lVhd O;k[;k djrk gSA
dFku B ;g lgh :i esa le>krk gS
fd Xykscy okfeZax ls tyok;q ifjorZu
gksrk gS] ftlls ck<+ vkSj pje ekSle
tSlh ?kVuk,a gksrh gSaA

35. (b) Magnetic field lines are
continuous loops. Outside
a bar magnet, they emerge
from the North Pole and
enters the South Pole.
However, inside the
magnet, the lines of force
travel from the South Pole
to the North Pole to
complete the loop. This is
a fundamental property of

magnetic fields./pqEcdh; {ks=k
js•k,a ,d fujarj ywi cukrh gSaA ckj
eSXusV ds ckgj ;s js•k,a mÙkjh èkzqo ls
fudyrh gSa vkSj nf{k.kh èkzqo esa ços'k
djrh gSaA tcfd pqacd ds vanj ;s
js•k,a nf{k.kh èkzqo ls mÙkjh èkzqo dh
vksj tkrh gSa rkfd ywi iwjk gks ldsA

36. (d) The Modern Periodic Table
consists of 7 periods
(horizontal rows) and 18
groups (vertical columns)./

vk/qfud vkorZ lkj.kh esa 7 vkorZ
(iafDr;k¡) vkSj 18 lewg (LraHk) gksrs gSaA

37. (d) In football, a yellow card is
shown by the referee to
warn or caution a player for
misconduct such as
unsporting behaviour,
dissent, or delaying the
restart of play. A red card
is used to send a player off
the field for serious

offences./iQqVckWy esa ihyk dkMZ
jsiQjh }kjk f•ykM+h dks psrkouh nsus
ds fy, fn•k;k tkrk gS tSls
vuq'kklughu O;ogkj] fojks/] ;k •sy
dh nsjhA yky dkMZ xaHkhj vijk/ ds
fy, f•ykM+h dks eSnku ls ckgj Hkstus
ds fy, gksrk gSA

38. (c) The hypothalamus, a part
of the forebrain, contains
centres that regulate
hunger and satiety (feeling
full). The hunger centre
and satiety centre in the
hypothalamus work
together to control food
intake based on the body’s
energy needs.



3SSC CGL 2025 | SET - 21KD PUBLICATION Contact us:- 9555108888, 9555208888

gkbiksFkSysel tks fd efLr"d ds
vxzHkkx dk fgLlk gS] Hkw• vkSj r̀fIr
(isV Hkjus) dks fu;af=kr djus okys
dsaæksa dks fu;af=kr djrk gSA ;g 'kjhj
dh ÅtkZ vko';drkvksa ds vuqlkj
Hkkstu lsou dks fu;af=kr djrk gSA

39. (d) While public transport is
important for convenience
and reducing pollution, it
is not directly related to an
individual's health as much
as factors like social
equality, public
cleanliness, and harmony,
which have a more direct
impact on mental and
physical well-being./

lkoZtfud ifjogu lqfo/k vkSj çnw"k.k
dks de djus esa enn djrk gS]
ysfdu ;g lh/s LokLF; ls mruk
lacaf/r ugha gS ftruk fd lkekftd
lekurk] lkoZtfud LoPNrk vkSj
lkeqnkf;d lkSgknZ tSls dkjd tks
ekufld vkSj 'kkjhfjd LokLF; dks
lh/s çHkkfor djrs gSaA

40. (a) Ashvaghosha was a
Buddhist philosopher,
poet, and dramatist of
ancient India. He is best
known for writing
Buddhacharita, an epic
poem in Sanskrit that
narrates the life of Gautama

Buddha./v'o?kks"k çkphu Hkkjr ds
,d ckS¼ nk'kZfud] dfo vkSj ukVddkj
FksA os ^cq¼pfjr* uked laLÑr
egkdkO; ds fy, çfl¼ gSa] ftlesa
xkSre cq¼ ds thou dk o.kZu gSA

41. (d) Anthracite is the highest
quality coal because it has
the highest carbon content,
highest energy content,
and least impurities./

,aFkzklkbV dks;ys dh lcls mPp
xq.koÙkk okyh fdLe gS D;ksafd blesa
lokZf/d dkcZu] lokZf/d ÅtkZ vkSj
lcls de v'kqf¼;k¡ gksrh gSaA

42. (c) Kalbaisakhi, also known as
Nor ’westers, are pre-
monsoon thunderstorms
common in the eastern and
northeastern parts of India,
during April and May.
These storms bring strong
winds, lightning, and heavy

rainfall./dkycSlk•h] ftUgsa ^ukWj

osLVlZ* Hkh dgk tkrk gS] Hkkjr ds
iwohZ vkSj iwokZsÙkj fgLlksa esa vçSy vkSj
ebZ ds eghuksa esa vkus okys çh&ekulwu
rwiQku gksrs gSaA ;s rwiQku rst gok]
fctyh vkSj Hkkjh ckfj'k ykrs gSa

43. (d) Capital goods are used in
the production of other
goods and services.
Machines, tools, imple-
ments , and buildings are
not consumed directly but
help in producing

consumer goods./i w athxr
oLrq,a os gksrh gSa tks vU; oLrqvksa
vkSj lsokvksa ds mRiknu esa mi;ksx
dh tkrh gSaA e'khusa] midj.k] vkStkj
vkSj Hkou lh/s miHkksx ds fy, ugha
gksrs cfYd miHkksDrk oLrqvksa ds
mRiknu esa lgk;d gksrs gSaA

44. (d) Nitric acid is used in
combination with
hydrochloric acid to form
aqua regia, a powerful
solution that can dissolve
gold and silver. Aqua regia
is commonly used in
laboratories and industries
for the purification and
refining of noble metals like

gold and silver./ukbfVªd vEy
dks gkbMªksDyksfjd vEy ds lkFk
feykdj ,d 'kfDr'kkyh ?kksy ̂ ,Dok
jsft;k* cuk;k tkrk gS] tks lksuk vkSj
pk¡nh tSls /krqvksa dks ?kksy ldrk gSA
;g ç;ksx'kkykvksa vkSj m|ksxksa esa
cgqewY; /krqvksa dks 'kq¼ djus ds
fy, mi;ksx fd;k tkrk gSA

45. (c) Lift systems (elevators)
require a large and
continuous power supply,
which solar cells alone
cannot reliably provide due
to their limited energy
output and dependence on

sunlight./ fyÝV flLVe
(elevators) dks cM+s vkSj lrr ÅtkZ
lzksr dh vko';drk gksrh gS] tks
dsoy lkSj ÅtkZ ls laHko ugha gS
D;ksafd lkSj ÅtkZ dh vkmViqV lhfer
gksrh gS vkSj ;g dsoy lw;Z dh
mifLFkfr esa miyC/ gksrh gSA

46. (c) The 7th edition of the Khelo
India Youth Games 2025
was hosted by Bihar from
May 4 to May 15, 2025,

marking the first time the
state hosted this national

multi-sport event./•syks bafM;k
;wFk xsEl 2025 dk 7oka laLdj.k 4
ebZ ls 15 ebZ 2025 rd fcgkj esa
vk;ksftr fd;k x;k FkkA ;g igyh
ckj Fkk tc fcgkj us bl jk"Vªh;
cgq&•sy çfr;ksfxrk dh estckuh dhA

47. (c) Chinese scientists have
developed the world's first
seabed-based radar system
capable of detecting high-
altitude aircraft. The
development of this deep-
sea radar system
represents a significant
advancement in naval

warfare technology./phuh
oSKkfudksa us nqfu;k dk igyk leqæ
ry vk/kfjr jMkj flLVe fodflr
fd;k gS tks Å¡pkbZ ij mM+ jgs foekuksa
dk irk yxk ldrk gSA ;g xgjs
leqæ esa vk/kfjr jMkj ç.kkyh ukSlSfud
;q¼ rduhd esa ,d cM+k dne ekuk
tk jgk gSA

48. (b) PM Surya Ghar Muft Bijli
Yojana provides 300 units
of free electricity per month
to residential households
by installing rooftop solar
systems at subsidized
rates, empowering citizens
to generate their own

power./ç/kuea=kh lw;Z ?kj eqÝr
fctyh ;kstuk fj;k;rh njksa ij Nr
ij lkSj ç.kkyh LFkkfir djds vkoklh;
?kjksa dks çfr ekg 300 ;wfuV eqÝr
fctyh çnku djrh gS] ftlls ukxfjdksa
dks viuh fctyh iSnk djus dk vf/
dkj feyrk gSA

49. (a) Public Examinations
(Prevention of Unfair
Means) Act, 2024, was
enacted by the Indian
Parliament to address and
deter malpractices in
public examinations. The
Act aims to uphold the
integrity of examinations
by penalizing activities
such as paper leaks,
impersonation, and the use
of unauthorized electronic
devices during exams.
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lkoZtfud ijh{kk (vuqfpr lk/uksa
dh jksdFkke) vf/fu;e] 2024]
lkoZtfud ijh{kkvksa esa dnkpkj dks
nwj djus vkSj jksdus ds fy, Hkkjrh;
laln }kjk vf/fu;fer fd;k x;k
FkkA bl vf/fu;e dk mís'; ijh{kk ds
nkSjku isij yhd] çfr:i.k vkSj vuf/
Ñr bysDVªkWfud midj.kksa ds mi;ksx
tSlh xfrfof/;ksa dks nafMr djds ijh{kkvksa
dh v•aMrk dks cuk, j•uk gSA

50. (a) Pandit Tejendra Narayan
Majumdar is a renowned
Indian classical musician
and a master of the Sarod.
In January 2025, he was
honoured with the Padma
Shri, in recognition of his
significant contributions to

Indian classical music./iafMr
rstsaæ ukjk;.k etwenkj ,d çfl¼ Hkkjrh;
'kkL=kh; laxhrdkj vkSj ljksn ds mLrkn
gSaA tuojh 2025 esa] mUgsa Hkkjrh; 'kkL=kh;
laxhr esa muds egRoiw.kZ ;ksxnku ds
fy, iÁ Jh ls lEekfur fd;k x;kA

gSAgS C - QUANTITATIVE APTITUDE

51. (c) Area of PTU = Area of

PTS + Area of TUS
ST  UR

S

RTP

Q

U

c

c

a
b O

 STRU is trapezium

Area SOU = Area TOR
[Area formed by non parallel
side are equal]

RS is median of PRQ

 Area of PSR = 
36

2
= 18 sq.

units
 Required area = Area of

(PTS +TOS +SOU)

= Area of (PTS + TOS+

TOR)

= Area of (PSR)
= 18sq. units

52.(a) Let C.P. be = ` x

S.P. = 
25

1
100

 
  
 

x = 1.25x

C.P
2 
= 

20
1 –

100

 
  
 

x = 0.8x

S.P
2
 = 1.25x – 10.5

ATQ,
Profit = 30%


. .

. .

S P

C P
=

13

10


1.25 10.5

0.8

x

x


=

13

10

 12.5x – 105 = 13 ×0.8x

 12.5x – 105 = 10.4x

 12.5x – 10.4x = 105

 2.1x = 105  x = ` 50

53.(c) A B

CDE

15cmF G

H

45º
45º

FD  AD [FDE =ACD =
45º ]
In Trapezium AFDC, AD and
FC are diagonals & AF and
DC are non- parallel sides.

Area of AFH = Area of

HDC
[Triangles an non-parallel
sides of trapezium]

Now,
Required area = Area of

FAH +Area of AHC

= Area of HDC + Area of

AHC

= Area of ADC

=
1

2
Area of square ABCD

[AC is diagonal of square ABCD]

=
1

2
× 15×15 =

225

2
cm2

= 112.5cm2

54.(d) ATQ,

Area BFD = Area AFE
    ABDE is a trapezium

    DE   AB

E

A

B
D C

F

Now,DCE BCA

[C = common, DE  AB]


DC

BC
=

DE

AB


5

5 2
=

12

DE

 DE = 
12 5

7


=

60

7
cm

55.(b) Pune to lonavala,
lonavala to mumbai

Distance = 40km,
Distance = 100km

Let Speed = x      Speed = 2x

 Time= 
40

x
, Time= 

100

2x

ATQ,

40

x
+

100

2x
=3


40

x
+ 

50

x
=3


90

x
= 3

 x = 30km/hr

 & 2x = 60km/hr

 Required speeds = 30km/h,
60km/h

56. (c) Area PBP = Area BPC
A

B C

D

P
x

12cm
2

x

27cm
2

 ABCD is a trapezium

 AD  BC

 Area of ABP = Area of

DPC = x
In a trapezium product of
opposite triangle's area is
same

 Area of ABP × Area of

DPC  = Area of APD ×

Area of  �BPC

 x × x = 27 ×12

 x2 = 27 ×12

 x2 = 3×3×3×3×2×2

 x = 3 ×3×2

 x = 18sq.cm

 Required area =  (27 + 18 +
18 + 12)
= 75cm2
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57.(a) Let the usual speed be V

A

V

V

B

3
4

T1

30km

30km

V
T

G

2

3
4

A B

Case 1

Case 2

45 min. Late

35 min. Late

V

F

V
GF

From A to F and G to B, in
both case speed, distance
and time are same.
From F to G

T
1
 = 

30

3

4
V

 & T
2
 = 

30

V

ATQ,

T
1
 – T

2
 =

45 35

60



30 4

3V


– 

30

V
=

10

60


30 4

3V


–

30

V
= 

10

60


40

V
–

30

V
=

10

60


10

V
=

10

60

 V = 60 km/hr
58. (a) Let the length, breadth &

height be l, b, h respectively.
ATQ,

lb = 72 ..............(1)
lbh = 720...................(2)
2(lb + bh+ hl ) = 484

 (lb + bh + hl ) = 242...........(3)
from equation (1) & (2)
h = 10cm
Putting h = 10 in equation (3)
72 + 10b + 10l = 242

 10b + 10 d = 242 – 72 = 170

 b + l = 17
Now, bl = 72

b +l = 17

 l = 9  & b = 8

 Length, breadth , height = 9,
8, 10cm

59. (a) For n = 3 year
Let r be required rate

& x = 
100

r
ATQ,

 3

3 1x

x


=

D

P

 3

3 1x

x


=

1500

30720

 3

3 1x

x


=

25

512

 3

3 1x

x


= 3

8 3 1

8

 

 x = 8

 r = 
100

8
% = 12.5%

 Required rate = 12.5%
60. (c) Let the share of Amar &

Akbar be P
1
 & P

2

 P
1
 + P

2
  = 3903

ATQ,

P
1

1

1
100

n
R 

  
 

=P
2
 

2

1
100

n
R 

  
 

 P
1
 

7
4

1
100

 
  
 

= P
2
 

9
4

1
100

 
  
 


1

2

P

P =

9 7
4

1
100

 
  
 


1

2

P

P =

2
26

25

 
  
 

=
676

625

Now, P
1 
: P

2
 = 676 : 625

  & P
1
 + P

2
 = 3903

 P
1
 = ` 3903 ×

676

676 625

 P
1
 = ` 2028

 Share of Amar = ` 2028
61. (c) Let l ,b and h be the side of

cuboid.
ATQ,

l2 + b2 = x2............(1)
b2 + h2 = y2............(2)
b2 + l2 = z2............(3)
adding above equations
2 (l2 + b2 + h2) = x2 + y2 + z2

l2 + b2 + h2 = 
1

2
(x2 +y2 +z2)

........(4)
from equation (1), (2), (3) & (4)

h= 
2 2 2–

2

y z x
, l = 

2 2 2–

2

z x y
,

b = 
2 2 2–

2

x y z

 Volume of cuboid = lbh

=    2 2 2 2 2 2 2 2 2

2 2 2

y z x z x y x y z     

 

= 
1

2 2
     2 2 2 2 2 2 2 2 2y z x z x y x y z     

62.(c)

Male 70 Female (120 –70)
=50

Total Application 120

Case. A:
When all males have driver's
license
M

D
  = 70,  F

D
 = (80 –70) = 10

Case. B:  When all females
are driver'slicense
M

D
  =  (80 – 50) = 30, F

D
 = 50

 Required ratio = 30 : 70 = 3 :
7

63.(b)
 

5 2 1

n 1

243 .3

9 .3

n n

n





=  
55 2 1

2 n 1

3 .3

3 .3

n n

n





=  
5 2 1

5

3n 1

3 .3

3

n
n 



=
2 1

3n 1

3 .3

3

n n

    =
3 1

3n 1

3

3

n



= 33n+1–3n+1

= 32 = 9
64. (a)22x + 3y × 32(3x –y) = 20736

 22x+3y × 32(3x – y) = 256 × 81
 2(2x+3y) × 32(3x – y) = 28 × 34

comparing powers

22x + 3y = 28   2x + 3y =
8.......(i)

32(3x – y) = 34   3x – y =
2.......(ii)

Now, 23x+ 2y = 128

 23x+2y = 27

 3x + 2y = 7.............(iii)
Now we get three equation
2x + 3y = 8.............(i)
3x + y = 2.............(ii)
3x + 2y = 7.............(iii)
Solving equation (i) & (iii), we
get
x =1 & y = 2
As equation (ii) does not
satisfies
at x = 1 & y = 2

    These three equation has
no. solution.

65. (c) x2 – bx + c = 0
Roots of equation  =
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= 
2b 4

2

b c  

=
2b 4

2

b c  

=
2b – 4

2

b C

ATQ,

–   = 1

2b 4

2

b C   
  
 

–
2b – 4

2

b C  
  
 

=1


22 4

2

b C
=1

 b2 – 4c =1

 b2 = (1+4c )

 b4 = 1 +16c2 + 8c

 16c2 + 8c –b4 + 1 = 0

 16c2 – b4 + 8c + 1 = 0

66. (b)x = 127 + 48 7

 x = 64 + 63 + 2 × 8 7 9

 x = 82 +  
2

63 + 2 × 8 ×

63

 x =  
2

8 63

 x =  8 63


1

x
=

1

8 63


1

x
=

 
  

8 – 63

8 63 8 – 63
=

8– 63

 x +
1

x
= 8 + 63 + 8 –

63 =16


1

x
x

 
  
 

= 16


1

x
x

 
  
 

 = 4

67. (d) (126! – 125!)
=125! (126 –1)
=125! ×125
Number of zeros in 125!

= 
125

5

 
 
  

+ 2

125

5

 
 
  

+ 3

125

5

 
 
  

=25 + 5 +1 = 31
As,

125 = 53

Three five will contribute 3
more zeros.

   Total number of zeros = 31
+ 3 = 34

68. (a) Let the cost of shirt be ` x
Total he received after 1 year
= 90 +x

 Total he received per month

= 
90

12

x 
  
 

 His 9 months income =

90

12

x 
  
 

×9

= 
3

4
(90 + x)

ATQ,


3

4
(90 + x) = 65 + x

 270 + 3x = 65 × 4 + 4x

 270 – 260 = 4x – 3x = x

 x = ` 10

69. (d)a = cz

 a = (by)z

 a = byz

 a =(ax)yz

 a1 = axyz

 xyz = 1

 x = 
1

yz


1

–x
yz

 
 
 
 

= 0


2

1
x

yz

 
  
 

=x2 +
 

2

1

yz
–

2x

yz = 0

  x2 + 
1

yz

1
2x

yz

 
  
 

=0

70. (b)Let the number be 30x & 30y
Where x & y are coprime

ATQ,
30x × 30y = 3600

 x × y = 
3600

30 30

 x × y = 4

 x × y = 22

 Number of possible x,y pairs
(coprime)
= 21–1 = 20 = 1

 Number of possible pair of
such number = 1

71. (a) Let all the word flashed
together at
t = 0sec.
Word "Modern" will flashed
after

= 
5

2
+1=

7

2
sec.

Word "Book" will flashed after

= 
17

4
+1

  =
21

4
sec.

Word "Store" will flashed

after = 
41

8
+1

 =
49

8
sec.

Now, Glowsign board will be
completely visible again at

  t = LCM  
7 21 49

, ,
2 4 8

 
 
  

sec

=
 
 

LCM 7,21,49

HCF 2,4,8

= 
147

2
= 73.5 sec

72. (a) 792 = 23 × 32 ×11 = 8×9×11
S = 7A68G023535928
As, 928 is divisible by 8, S
must be divisible by 8.

Now,
Number S must be divisible
by 9.

 Sum of digits of S should be
divisble by 9.

 Sum of digits = 58 + A + G,
divisible by 9.
Number S must also be
divisble by 11

 (8 – 2) + (9 –5) + (3 – 5) + (3
– 2) + (0 –G) + (8 – 6)+(A –7)
must be divisible by 11.

 6 + 4 + –2 + 1– G +2 +A – 7,
divisible by 11

 4 – G + A, divisible by 11.
Now,

58 + A + G, divisible by 9
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4 – G + A, divisible by 11
(A+G)

max
 = 9+9 = 18

(A+G)
min

 = 0 + 0 = 0

 58 < 58 + A + G < 58 +18
58 < 58 + A + G < 76
Multiple of 9 between 58, 76
is 63, 72

 58 + A + G = 63 or  58 + A +
G = 72

 A + G = 5.....(1)  or A +G =
14.........(2)

Similarly,
4 – G + A = 11  &   4 – G +A = 0

 A – G = 7....(3)  & A – G = –
4.........(4)
Solving  equation  (1) & (3)
A = 6,  G = –1 [Not possible
as digit can not be negative]
Solving equation  (2) & (4)
 A = 5 , G = 9
Solving equation (1) & (4)

A = 
1

2
, G = 4

1

2
 [Not possible,

as value of digits can not
be a fracion]
Solving equation (2) & (3)

A = 2
1

2
,   B= 

7

2
[ A g a i n

not possible]
 A = 5

73. (c) Let the number of
candidates who appeared in
exam = x

Passed candidates = 
3

4
x

 Failed candidates = 
1

4
x

New Passed candidates = 
3

4
x

– 6 &  new total candidates
= x + 8

 New failed candidates

= (x +8) –
3

6
4

x
 
  
 

ATQ,

 
3

8 – 6
4

3
6

4

x x

x

 
   
 

 
  
 

=
1

1

 (x + 8) –
3

6
4

x
 
  
 

=
3

6
4

x
 
  
 


3

2
x –x = 12 + 8


1

2
x = 20

 x = 40
74. (b)ATQ,

 
20 2 24 30 3

2 3

x

x

   

  = 25

 40 + 24x + 90 = (5 +x ) 25

 130 + 24x = 125 + 25x

 130 – 125 = (25 – 24)x

    x = 5 kg
75. (d)Let each soldiers eat 1

packet of food daily.
Total packet of food = 1000
× 30
  = 30,000 packets
After 10 days remaining
packet
= 30,000 – 1000×10
= 20,000 packet

Now,Total number of soldiers =
1000 + 1000  = 2000

 Required number of days =

20,000

2000
  = 10 days

D-ENGLISH COMPREHENSION
76. (d) Cumbersome (Hkkjh&Hkjde)

means large or heavy and
therefore difficult to carry
or handle, similar to Heavy

(Hkkjh), which refers to
something with great
weight.

Royal ('k kg h)  means
relating to a king or queen.

Fickle (p apy)  means
changing frequently,
especially in mood or
opinions.

New (u;k) means recently
made or discovered.

77. (d) Glee (g"k Z) means great
delight or joy, similar to

Happiness (•q'kh), which
refers to a feeling of
pleasure and contentment.

Wickedness (nq"Vrk) means
evil or morally bad
behaviour.

Sorrow ('kksd) means deep
sadness or grief.

Unhappiness (nq•) refers
to the state of not being
happy or content.

78. (c) The correct spelling is

Courageously (lkgliwoZd)

which means In a brave or
fearless manner.
Other correct spellings are
:

Categorically (Li"V :i ls)
– In a very clear and direct
way, without any doubt or
conditions.

Charmingly (eksgd <ax ls)
– In a delightful, attractive,
or pleasing manner.

Concurrently (,d lkFk) –
Happening at the same
time.

79. (d) Agitated (O;kdqy) means
feeling troubled or
disturbed, while

Composed ('kkar) means
calm and in control
emotionally.

Focused (è;ku d s a fær)
means directing attention
towards something.

Rectified (lq/kjk) means
corrected or fixed.

Secured (lqjf{kr fd;k)
means made safe or
protected.

80. (c) The sentence talks about a
past event (“As the news ...
reached Einstein”), so the
verb should be in the past
tense.

81. (d) The subject “one” is
singular, so the verb
should also be singular:
“that has not” instead of
“that have not.”

82. (b) Conciliatory (lqygi w.k Z)
means having a friendly
and calming manner that
helps reduce tension or
conflict.

 Confrontational (Vdjkoiw.kZ)
means aggressive or
argumentative.

 Abrasive (:•k) means
harsh or rough in manner,
likely to cause friction.

 Indifferent (mnklhu)
means showing no interest
or concern

83. (b) Lick your wounds means
to go away and recover after

a defeat or bad experience.
84. (b) Correct order is ADBC.
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 A introduces the idea that
child care services can be

arranged or requested.
 D states the main point:

Ultimately, the parent

must give guidance.
 B explains what parents

must provide: Love and

commitment to their
children.

 C concludes by giving the

reason: For their proper
psychological development.

85. (b) The correct spelling is

Recalcitrant (voKkdkjh)
which means stubbornly
resistant to authority or
control.

Other correct spellings are:

Erudition (fo}Ù k k)  –

Extensive knowledge

acquired through reading
and study.

Compromise (le>kSrk)– An

agreement reached by

mutual concession.

Arrogance (vgadkj)– An

attitude of superiority or

self-importance.
86. (b) “Careful” is an adjective,

but an adverb “carefully”

is needed here.

87. (d) (1) vibrant (thoar) means

lively, full of energy and

excitement.

(2) skyscrapers (xxupqach
bekjr s a )  are very tall

buildings, usually found in

big cities.

(3) explore (•kstuk) means

to travel around or
investigate a place to learn

more about it.
88. (c) To get upper hand means

to gain control or have the

strongest position in a
situation.

89. (d) Happy (•q'k) means feeling

or showing pleasure and
contentment, while

Distraught (csgn ijs'kku)
means deeply upset or

agitated.

Sour (•êðk ;k fpM+fpM+k)
refers to a taste or mood

New (u;k) means recently

created or discovered.

Curved (eqM+k gqvk) refers to

a shape, not an emotional
state.

90. (b) Whoever means “the
person who” and works as
the subject here.

91. (b) Truculent (yM + kd w)  is

“Eager or quick to argue
or fight; aggressively

defiant.”

Docile (vkKkdkjh) means

obedient and submissive.

Pliable (yphyk) means

easily bent or influenced.

Pliant (uje] yphyk) means

flexible or easily influenced.
92. (a) Correct order is DACB.

 D starts the sentence with
the main idea: Not only
does this order treat

children.
 A explains how children are

treated: As passive and

captive elements who do
not have a view.

 C continues the idea: Of
their own, but it also
violates.

 B concludes by specifying
what is violated: The
international convention of

child rights.
93. (b) Is she not painting

anymore?

Present continuous tense
uses “is/am/are” + verb-
ing.

94. (d) Active Voice Structure:
Did (Auxiliary for past
question) + he (Subject) +

give (Base Verb) + the
message (Object)?
Passive Voice Structure:

Was (Auxiliary for past
passive) + the message
(Object) + given (V3) + by

him (by + Subject)?

95. (c) Exodus (fudkl) means a

large-scale departure of

people, while Entry (ços'k)
means the act of coming
into a place, which is the

opposite.

Invasion (vkØe.k) means

an aggressive or forceful

entry.

Desertion (ifjR;kx) means

abandoning.

Emigration (çokl) means

leaving one’s country to live
in another.

96. (a)

97. (d)
98. (c)
99. (b)
100.(d)

ANSWER KEY

1. (c)

2. (a)

3. (a)

4. (c)

5. (b)

6. (b)

7. (b)

8. (d)

9. (d)

10. (d)

11. (c)

12. (a)

13. (b)

14. (b)

15. (d)

16. (c)

17. (a)

18. (c)

19. (d)

20. (d)

21. (d)

22. (d)

23. (c)

24. (c)

25. (d)

26. (a)

27. (c)

28. (d)
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30. (d)
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32. (b)
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35. (b)
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40. (a)

41. (d)
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